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sub work I Determine if the sequence is geometric. If it is, find the commen ratio.
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Geometric Sequence I

Recursive:
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€) Describe the transformations that occur:
Vg unction reprseis the sequence?
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March 6, 2019, Wednesday

March 7, 2019, Thursday

6th & 11th term

‘The table shows a given sequepfee. If the 1) Samir made a pattern shownbelow. What oy which table best describes  function with i sony = 2 (A _
pattern continues, ind the g term of the number belongs in the position indicated by o ponential decay? s 20 Gventhefunctiony = 2 ()™ 5,
Fequence. HesEp ez thequestion mark? 1.1 e REE a) Does the function represent an
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B — 1) What is the equation of the asymptote?
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GsE Aigebral Unit 34~ Factoring Quadratics 1 GSE Agebral Unit 3A - Factoring Quacatics 1

Name: Date:
PRACIICE:

actor each polynomial using a GCF.

GCF Factoring 1. 10x+45 2. 2362

Infroduction to Factoring out GCF

*“Factor” smply means 1o UNDISTRIBUTE. »

Distributed Version Factored Version
3 18042 4 xioa
Bx(x + 3)
2x2(x - 4)
2x2-4x
. 27
15x2 - 5x + 30 ¢ o el
Hore formal Definifion:
Factoring: Wiifing ihe polynomial as a product.
Steps to Factoring Out a GCF:
* Find the GCF of all s ferms (number and/or variables). For variables AL the
terms must have Ihe variable. Choose Ihe smallesl exponent!
* The GCF goes fo The LEFI]
* Wiite the polynomial as a product by dividing the original terms of the polynomicl 7. 720P + 336" 425" 5 150 +306 45
by the GCF.
* The remaining factors in each ferm wil form a polynomial. You'll always have the
same number of ferms you slarled wilh.
Factor using a GCF:
® 4xtoby ® & -9x" £12x e V' -y'+y
9. 4¢ 1 16¢ 44 10,140 1 7% 42

Feb 28-9:04 AM Feb 28-9:04 AM

Name Date. GSE Algebra |
~Facloring Ihe difference of lwo squares Noles~
Name Dale.
whalis the difference of wo squares?
Difference of Two Perfect Squares (a2~ b2)
o Musthave squares —_— P
® Must have (difference)
* A square if the isan number.
4’81  and 16
e e s s 3 19601 4100 -49
Examples:
[T 750100
2 2 i o
3. 45225 4.9-y 5 2162 6 16x-36
5. 2x"-8
7. 818 8. 15¢-60y*
Exira Practice:
P 9. 68x°-17 10.25x - 49y*
3) 36k* -1 4) p*-36
1. 50x* -98xy? 12, 45%2-20y°
5) 2x* - 18 6) 196n° — 144

Mar 1-8:44 AM Mar 1-8:46 AM
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March 8, 2019, Friday

1) -3F -

20

3) 4 L34S

Factor the common factor out of each expression, if possible.

2) o'+ 9+ 12
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N 5 N
1. Find two numbers that sum to 8 and have a product of 12

2. Find two numbers that sum to 5 and have a product of 6

ind two numbers that sum to 5 and have a product of -14
4. Find two numbers that sum to -8 and have a product of 12
5.Find two numbers that sum to 16 and have a product of 15
6. Find two numbers that sum to -4 and have a product of -21
7. Find two numbers that sum to 1 and have a product of -56
8. Find two numbers that sum to -14 and have a product of 40
9. Find two numbers that sum to 0 and have a product of -25
10. Find two numbers that sum to 8 and have a product of 16

11. Multiply the following:

a (x+6)(x +3) b. (v +7Xx-2)

Notice: Whati the Notiee: Whatis the Notie: Whatisthe
sum of the-

constants

product of the sum of the constants

Notice: What is the
product of the

above? binomial sbove? aboe?

binomial sbovs?

Unit 30 Day 2 Noles_Factoring Irinomials when a = 1

Now let's factor hinomials! (3 ferms)
* Remember, we undo mulliplying!
Example 1: X2+ 5x + 6

1. Isthere a GCF2 Yes or No

MCC9-12.A.SSE.30: 1 can factor a quadraic expression o r

To factor a trinomial, it breaks down into a product of binor

What are the factors of & (what pairs multiply fo 6)?

/eal the zeroes of he function it defines.

Is (2 ferms each)

Which pair adds fo be 57

Feb 28-9:09 AM

Answer: (x ) x )
Now you ryl
1LesTxe12 2.+ 12+ 20
3 e e 12 ey
5ox-x-12 6 - 2x-24
7. x-6x+8 8 - Tix+24

Feb 28-9:10 AM

GSE Algebra | Unit 3A - Factoring Quadratics

Name

Date,

Factoring Trinomials (ax? + bx + c)

Factor each frinomial complefely. *Hint - #8-10 fake out a GCF 17!

1 2 X x-24

3 Xex-20 4 X —5x-66
5 10x-24 6 18

7. X —6x-16 B 20120 +18x
9. 3 +12x-63 10,266 -20x
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GSF Algebra 1

Linear, Quadratic, and E» tial Functions Not

Auribute | Lincar Functions Quadratic Functions _|_Exponential Functions

Rate of change

Domain
& Range

Intereepts

Asymptotes

End Behavior

Feb 28-9:26 AM Feb 28-8:39 AM

Examples
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Functions to Gragh ad Disuss
f@=2x+3 fx=2c +3 F@)=2+3
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